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SADF—7 : JJ7ORY FEEHT(2)

- RE(wd, V)Z5ZTII7ZENH T : velocitydJ7(wd, v)

c AT WF TEZB2TO0T5ALEF?
velocityJJ7(wd, v);//3|EICEB D;FEN N x5 2D
delay(tau);
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motorB# &EE (VR, vL) & DER

2 DODEHDREERIFLTCOMY ZEHT

B1EEQ . EEICHDEWDE—Y —RE : spL, spR
BRIEEQ : EBICHDEHFHDOERAM : oril, oriR
motor (spL, spR, oriL, oriR);

0 <= spL. <= 1023, oriLL. = (0O or 1) - v
O <= spR <= 1023, oriR = (0 or 1) - vR

Lml

JJTDFE > 7cEEREER U !

motor (300, 300,
motor (300, 300,
motor (300, 300,
motor (300, 300,

1); //fwd
1); //rotL
0); //rotR
0); //bwd
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- BERDEMKRATDRE(VR, vL)EJJT7TDPIHTDRE(wd, V)

(R+d)w = vy
(R—d)a)=vL o vR=v+a)d
Ro =y FrEth HE =v-aod
3 ES b
fEEIR =V |
ES Hiy wd = E(VR — VL)
1
N % V= E(VR + v;)
. fie[=l+4% R o
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BEEE(VR, vL) &EEEFME (W, V)

vL
A FEGEES
Al R=-d v
B BTHE
R=0 B o
. YA B8R
» VR
%R EEr R=d

R=xeo Y L 2o
.
BR mam od
1
a)d=—(VR—VL) Vo =V + wd
2 R
1 v, =V —wd



void velocityJJ7 (float wd, float v)

void velocityJdJ7 (float wd, float v){

float vR, vL; R=1o0
vR=v+wd; vL=v-wd; AER [El%s Vs AL [ClER
if (vR>0.0){ vL i VR
if(vL>0.0){ //vVR > 0, VL > O R=-d \' V| R=d
motor (vL, vR, HIGH, HIGH); 5
}else{ //vR > 0, VL < O . 0
motor (-vL, VvR, LOW, HIGH); R0 > od
} ol Gl
}else{
if(vL>0.0){ //VR < 0, VL > 0
motor (vL, -vR, HIGH, LOW); R=d %3E R=-d
}else{ //VR < 0, VL < O Sy Reteo  BBRAEEE
motor (-vL, -vR, LOW, LOW);
}
} Ve =V + @d

}
Vi =Vv—awd



motorEa# & velocityJJ7E# & DR

L R:ioo
velocityJdJ7 (0.0, 300.0); vL 0 VR
R=-d N\~ V|- R=d
motor (300, 300, 0, 1); //Z[El#E .
velocityJdJd7(300.0, 0.0); EE R0
R=0 ’ > od
motor (300, 300, 1, 0); //%GMOER FElEs
velocitydJd7(-300.0, 0.0);
R=d - R=-d
motor (300, 300, 0, 0); //1%E D . mEAEE

velocitydJd7 (0.0, -300.0);
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; MEENDH] 1 : Ex40]

md OR#E=ZE< (M=0, 1, 2, 3, 4, 5)

R=md=v/w &£ v=mwd UL7H'>T

V
i
R=md
Rerteo | (wd,mgd) (wd, v)=(wd, mwd)®D =IETe[o|+F:E
mod |- i R=( N md &5
A/
~E R—0 Eix@ﬁgé% A ( E) é:EfELJ
R=0 i wd ¥ A DHEZENT ZEICT S E
od | £EE  wd=A/sqrt(l+m*m), v=mwd &
ER(IZ¢YA
o m=25, 4, 3, 2, 1, 0 &EZEZXT
= IRt JEH DK FEHEY

JJ7 (ZERIPIODRE D ZABIRE w Tl d dH -
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FLEEIDHI 2 : Ex402

JJ7 (STl

C

0D E D 7= AR

T5ZRAT

void loop() {
wd=A;
V=m*Aj;
velocitydJd7 (wd, v);

(100);

g8 71 <

velocitydJ7(wd, v); %

(_Wdlv)l (_Wdl_v)l (Wdl _V)t
RATHEZBHRI .
E w CEEITINI7BEE???2729D

CDZ EFZEEH%T BN (m=3 & m=0 DERZEZEZTHLD)
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Ex403, Ex404%Z3%179 % : AT v FOEXREE

SWZBd&E(C1[LIETID

: Y
void loop() { . T
while ( (SW_PIN)==HIGH); (0d. V)
(1000); 7 — ’
motionO1l(); A
}
ALlEx : > od
' ®
void motionO01 () { od ElE
float t, tmax, h, wd, v, A=300.0;
int tau=100, N=100;
=-M PI/4.0; tmax=M PI/4.0; h=M PI/N; Rk
while (t<tmax){
v=A* (t); wd=A* (t);
velocityJJ7(wd, v); tZ20.0H StmaxE T/NZ A
(tau); wd, vESZ, JI7TEENT

t+=h;
}
}
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Ex405 : fHAE LT TERLTEHNES

void testMotion () {
float t, tmax, h, wd, v, A=300.0, nu=1.0;
int tau=50, N=100;

tauDEZZ X5 (20-200) & g8 IFHRICENLT D

t=-M PI/2.0; tmax=M PI*3.0/2.0; h=M PI/N;
while (t<tmax){
// while (1){
V=A* (nu*t); wd=A*0.6%* (nu*t);
velocityJdd7 (wd, v);
(tau);
t+=h;
}
v=0.0; wd=0.0; velocitydJd7(wd, v); // stop
(1000);
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- RE(wd, V)ZS5ZATII7ZENT : velocitydJ7(wd, v)
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A-L-\ \
ALEEE) & [ EREH) D ERGIDEIR IS ?
1 ¥ @0 BEEDEAIF 1 #E D A& )Er 58451
BIHEEEEEE v [mm)] oo o W=25p-160 [ B /sed]
200 1 v=1.155p- 70 [mm/sec] EERRE W ]
- - - ZT)) [ — R
2 w| yoye
200 - 200 |
w0 w|
0 100 200 300 400 0 100 200 300 400

v=wd, w=2pi*W/360 , w[rad/s], W[deg/s]Z{E>T
v=1.15sp-70=wd=2pi*d*W/360=2pi*36*W/360K D
pi*W/5 =1.15sp-70%1F5d: W=5*1.15*sp/pi-5*70/pi
W=1.83%sp-111&7/5. W=2*pi-160&IdMNEDEKRD |



